th2 289 9 0 oA LA0B = «COD € uj, A D

o 84 g ALY

@® AB=CD ‘
- P
@ 5.0ptAB = 5.0ptCD B ¢

O ~
® 5.0ptAD = 5.0ptBC

@ (FAZE AOB 2 Hol)=(FA& coD 9
wol)

3 AAOB = ACOD



2. & I"A LEOD = x, /BOC = 2x 0|1, B2HE&E AOF 9] Ho|7}t

90cm? ¢ o, FA& EOD 9] Yol=?

F

E
A VO LD
2T
B

D

@ 20cm? @ 30cm? ® 40cm?

@ 50cm? 3 60cm?



obef ;o] AB £ AEORE s 9 0 AHBOC =

30°, 5.0ptBC = 5cm, AD//OC ¢ W, 5.0ptAD ©] Zo]E 5}
ofzt,
X
icm
Al N
O 30
@ 10cm @ 15 cm ® 18 cm

@® 20cm 3 22 cm



4. U I AEE 72| Yol

45°
“5em- O
25
—r-50
@ (107 - 20) cm? @ (271 ) cm
—25) cm?
® (%n 95) cm @ (257 - 25)

® (207 — 25) cm?



5. ohe a%o AAREA MAT HEA Y
O]J‘—__“? I’
16c‘m
T~ ~16cm-
@ 49 cm? @ 75cm?
® 128 cm? @ (987 — 49) cm?

® (987 + 49) cm?



® (12 + 4n)em @ (12 + 27)cm ® (6 + 47)cm

@ (6 + 2m)cm ® (6+m)cm



@ (24 + 87)m?

@ (24 + 20m)m?

@ (24 + 127)m?

® (24 4 24m)m?

® (24 4+ 16m)m?



O 2dHoA 2 99 #A&F CD = 13cm °]i A2

AC = BD = sem & o, A $2| yol& T3}

@ ynch @ Zncm? ©) annﬁ

@ 397rcm? B 427cm?



9. o= I AER} R S dol=?

A D
\
\
\
\
8cm
II
1
|—/
B>~_gem---TC

@ 4ncm @ 6rcm @ 8rcm

@ 10mcm ® (87 -16)cm



10. the 1YL AB & AB0R SH- WIS A A 2 FH0E 507 31
X171 ZA0]c}. RO = 6em % o, AT 2] Yol g
C
50° .
A 0) B
@ 10mcm? @ 1lmem? @ 127cm?

@ 137wcm? 3 147wcm?



